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QUESTION 1

An administrator has configured several virtual servers in a network environment and needs to determine
their bandwidth utilization.

Which information from the Dashboard can the administrator leverage to determine the bandwidth
utilization for the virtual servers?

A. Requests vs. responses

B. Request bytes vs. response bytes

C. Current client connections vs. current server connections

D. Current server connections vs. current client Est connections

Correct Answer: B

QUESTION 2

What should an administrator configure on a NetScaler to remove server-side compression and enable compression on
the NetScaler?

A. Disable the compression feature (disable ns fea cmp).

B. Enable Compress Push Packet (set cmp parameter -cmpOnPush enabled).
C. Enable Allow Server-Side Compression (set cmp parameter -serverCmp on).
D. Disable Allow Server-Side Compression (set cmp parameter -serverCmp off).

Correct Answer: D

QUESTION 3

Which parameter on a monitor specifies the consecutive number of successful probes required to mark a service as
upP?

A. Retries

B. Failure Retries

C. Success Retries

D. Response timeout

E. Response timeout threshold

Correct Answer: C
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QUESTION 4
Scenario: An administrator needs to satisfy the following conditions:

-The traffic should be encrypted end-to-end

There is no certificate configured on the virtual server
Which type of virtual server should the administrator configure on the NetScaler?
A.

SSL

TCP

HTTP
D.

SSL_TCP

E.
SSL_BRIDGE

Correct Answer: E

QUESTION 5

Which three components does an administrator have to configure in order to establish a basic content switching setup?
(Choose three.)

A. GSLB sites

B. SSL Offload

C. ADNS services

D. Rule or URL-based policies

E. Load balancing virtual server
F. Content switching virtual server

Correct Answer: DEF
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